BEHLEN BUILDING SYSTEMS
DIVISION OF BEHLEN MFG. CO.

GENERAL NOTES -
- P.0. BOX 569
£ 3

1. THE SEAL THAT APPEARS ON THESE DRAWINGS IS THE SEAL OF THE ENGINEER FOR THIS BUILDING
MANUFACTURER WHO IS NOT THE ENGINEER OF RECORD.

2. CERTIFICATION RESTRICTION:
ENGINEER'S CERTIFICATION IS STRICTLY LIMITED TO THE DESIGN OF STRUCTURAL COMPONENTS DESIGNED AND
MANUFACTURED BY THIS BUILDING MANUFACTURER. CERTIFICATION EXTENDS ONLY TO THE DESIGN LOADS AND
STANDARDS INDICATED ON THESE PLANS. CERTIFICATION DOES NOT EXTEND TO FOUNDATION, MECHANICAL,
ELECTRICAL, PLUMBING, FIRE PROTECTION, CIVIL WORK, ARCHITECTURAL RESPONSIBILITIES, OVERALL PROJECT PHONE: 402—564—3111
COORDINATION, OR OTHER ASPECTS OF CODE COMPLIANCE NOT SPECIFICALLY REFERENCED BY THE ’
MANUFACTURER'S ORDER DOCUMENTS. CERTIFICATION SHALL NOT EXTEND TO BUILDING ERECTION SUPERVISION ENG. FAX: 402—563—7286 "
OR INSPECTION. www.behlenbuildingsystems.com FRBC 2023 PRODUCIT APPRO\/AL

3. ANCHOR RODS ARE ASSUMED TO CONFORM TO ASTM STANDARD F1554 GRADE 36, THE PREFERRED MATERIAL . gsy . S
PER AISC SPECIFICATIONS. ANCHOR ROD DIAMETERS ARE DETERMINED BY ALLOWABLE SHEAR AND TENSION PER BUILDING INFORMATION WALL PANELS:
AISC SPECIFICATIONS. LENGTHS, EMBEDMENTS, HEAD STYLES, METHODS OF TRANSFERRING FORCES FROM THE FL7548.1-MIN. 26 GA PBR (N
ANCHOR RODS TO THE FOUNDATION, AND/OR OTHER ASSOCIATED ITEMS OF THE FOUNDATION ARE NOT BY J OB N U M B ER Z O 4 6 8 . . (NON—HVHZ)
BEHLEN BUILDING SYSTEMS. :

4. FOUNDATIONS MUST BE DESIGNED FOR LOCAL SOIL CONDITIONS BY A QUALIFIED FOUNDATION ENGINEER TO

SAFELY SUPPORT COLUMN LOADS. .
5. THIS BUILDING MANUFACTURER IS NOT RESPONSIBLE FOR ERRORS, OMISSIONS OR DAMAGES INCURRED IN THE NAME: West Paces
ERECTION OF BUILDING COMPONENTS NOR FOR THE INSPECTION OF ERECTED COMPONENTS TO ASCERTAIN SAME.
6. TEMPORARY BRACING MUST BE INSTALLED BY ERECTOR TO PROVIDE ADEQUATE STABILITY DURING ERECTION. ADDRESS: 336 SW Paces Glen
BRACING INDICATED ON THE ERECTION DRAWINGS IS CRITICAL TO THE STABILITY OF THE COMPLETED STRUCTURE .

7. mELSEAmE%OLBNEEESE%\éE%N INTEGRAL PART OF THE STRUCTURAL SYSTEM. UNAUTHORIZED REMOVAL OF Cl TY, STATE:; |_ake Cllty, 2 32024

PANELS IS PROHIBITED.
8. FOR ALL BUILDINGS EXCEPT THOSE SITED IN CANADA, ALL FIELD WELDING SHALL BE DONE IN ACCORDANCE WITH . 1 1

THE AMERICAN WELDING SOCIETY (AWS) D1.1 OR D1.3 AS APPLICABLE BY AWS CERTIFIED WELDERS QUALIFIED TO B U | I—D E R G S [ q ue C ons t ruc t 1on ) I—I—C

PERFORM THE WELDING AS DIRECTED BY THE APPLICABLE WELDING PROCEDURE SPECIFICATION (WPS); FOR

BUILDINGS SITED IN CANADA, ALL FIELD WELDING SHALL BE DONE IN ACCORDANCE WITH CSA (CANADIAN

STANDARDS ASSOCIATION) WELD STANDARDS BY CWB (CANADIAN WELDING BUREAU) CERTIFIED WELDERS

TO PERFORM THE WELDING AS DIRECTED BY THE APPLICABLE WELDING PROCEDURE SPECIFICATION
(WPS). A WPS SHALL BE PREPARED BY THE CONTRACTOR FOR EACH WELDING VARIATION SPECIFIED. UNLESS

ELHEE{\;IIUS'EESP;$OS’CE)BE USE E7018 ELECTRODES. THE CONTRACTOR SHALL PROVIDE FOR ANY SPECIAL WELDING |:) A N E L TR | M A N D |: R A M | N G | N ’: O R M A Tl O N ENG|NEER|NG REV|EW
9. ERECTION OF THIS METAL BUILDING SYSTEM SHALL COMPLY, AT A MINIMUM, WITH THE APPLICABLE ERECTION
TOLERANCES STIPULATED IN SECTION 7 OF AISC 303 CODE OF STANDARD PRACTICE FOR STEEL BUILDINGS AND * NUM. | PLAN TYPE RSEI-\LIE;‘,FSD DESIGNER| DATE |CHECKER| DATE
BRIDGES, SECTION 29 OF CSA S16 DESIGN OF STEEL STRUCTURES, AND SECTION 6 OF MBMA COMMON ROOF PANELS TRIM ANCHOR BOLT PLAN 1 to 3 SDC 2/3/25 73/
(o} AS 2/3/2025

INDUSTRY PRACTICES.
10. BEHLEN BUILDING SYSTEMS IS QUALITY ACCREDITED OR CERTIFIED AS FOLLOWS: INTERNATIONAL ACCREDITATION BY OTHERS PERMIT PLAN 1 to 13 SDC 2/4/25 AS 2/4/2025
CONSTRUCTION PLAN 1 to 13 SDC 2/19/25 SS 2/19/25

SERVICES (IAS) AC—472 INSPECTION PROGRAM FOR THE MANUFACTURE OF METAL BUILDING SYSTEMS EAVE: GAUGE: 26 COLOR: C

CERTIFICATE NUMBER MB—102; CAN/CSA A660—10 CERTIFICATION OF MAMUFACTURERS OF STEEL BUILDING . ] :

SYSTEMS CERTIFIED BY QUASAR, CERTIFICATE NUMBER BEHMFO. WALL PANELS £l e GAUGE: COLOR:  Charcoal Gray
11. FOR ALL BUILDINGS EXCEPT THOSE SITED IN CANADA, ALL WELDING PERFORMED BY BEHLEN HAS BEEN DONE IN L: GAUGE: COLOR: Charcoal Gray

ACCORDANCE WITH AWS WELD PROCEDURES BY AWS CERTIFIED WELDERS OR WITH CSA WELD PROCEDURES BY TYPE: PBR GAUGE: 26  COLOR: Charcoal Gray JAMB: GAUGE: 26  COLOR: Charcoal Gray

CWB CERTIFIED WELDERS. FOR ALL BUILDINGS SITED IN CANADA, ALL WELDING PERFORMED BY BEHLEN HAS = BASE SEAL: GAUGE: COLOR: TCharcoal Gray

BEEN DONE N ACCORDANCE WITH CSA WELD PROCEDURES BY CWB CERTIFIED WELDERS. CORNER: GAUGE: COLOR: Charcoal Gray
12. THE PREFERRED ATTACHMENT DETAIL FOR A PURLIN HANGER IS AN ATTACHMENT TO THE BACK OF THE WEB OF ; . : e

THE PURLIN. PROVIDING THIS METHOD OF ATTACHMENT WILL ENABLE COMPLIANCE WITH THE HANGING LOAD BASE ANGLE/SEAL: GAUGE: COLOR:  Galvanized

REQUIREMENTS OF NFPA 13:9.2.1.3.1. C—CLAMPS SHALL NEVER BE DIRECTLY ATTACHED TO THE LIP OF THE
PURLIN FLANGE AND MUST NEVER CAUSE DEFORMATION OF ANY PART OF THE PROFILE OF THE PURLIN.

20468

4025 EAST 23RD STREET “
COLUMBUS, NEBRASKA USA 68602—-0569 METAL BULDING MANUFACTURERS ASSOCIATION
E—MAIL: behlen@behlenmfg.com

JOB NO.

Lake City, FL 32024

West Paces

harcoal Gray

i

:

N
(o))

I_IIL
’

olo|o(N|o|u]|s|w|n|=

—

MATERIAL PROPERTIES

STRUCTURAL WELDED SECTIONS ASTM A572, A529 OR A1011, GR. 50
HOLLOW STRUCTURAL SECTIONS (HSS) ASTM A500, GR. B

HOT ROLLED SECTIONS ASTM A572, A529 OR A992, GR. 50

HOT ROLLED ANGLE ASTM A36, Fy=36 KSI OR A572, GR. 50 PRIMARY FRAMING

HOT ROLLED ROD ASTM A572, Fy=50 KSI OR Fy=60 KSI m')"dv{&“ggiws BQEK Y BRIMER
CABLE BRACING ASTM A475, EXTRA HIGH STRENGTH WIND COLUMNS & BENTS DARK GRAY PRIMER

COLD FORMED ROLLED SECTIONS ASTM A1011 SS GR. 55 OR HSLAS GR. 55 ,
CASS 1 ASTM AB53 8S GR. 55 OR LISLAS NOTE: SINGLE CEE & DOUBLE CEE ENDWALL COLUMNS ARE GALVANIZED

GR. 55 CLASS 1 (G40 GALV.), OR ASTM A653

SS GR. 50 CLASS 1 (G90 GALV.) SECONDARY I‘_RAM|NG
8. ROOF AND WALL SHEETING ASTM A792, GR. 50 OR GR. 80 GIRTS, EAVE STRUTS, PURLINS GALVANIZED
9. HIGH—STRENGTH BOLTS ASTM A325, ASTM A325T DOOR /FRAMED OPNG. GALVANIZ

CLIPS DARK GRAY PRIMER
10. SECONDARY MEMBER CONNECTIONS ASTM A307, ASTM A325, ASTM A325T
11. WASHERS ASTM F436

N OO 6N

Al = ADP1 PANEL A2 = ADP2 PANEL

IMPORTANT TRIM & PANEL INFORMATION BUILDING DESIGN CRITERIA EARTHQUAKE LOAD DATA

WHEN HANDLING LONG TRIM, CARE SHOULD BE TAKEN TO AVOID DAMAGE SITE CLASS -
CAUSED BY BUCKLING. DESIGN LOADS ARE APPLIED IN ACCORDANCE WITH THE APPLICABLE Ss (%g)  : 8.2 Siig: =
ALL TRIM COMPONENTS HAVE A PROTECTIVE FILM ON THE COLORED SURFACE PROVISIONS OF THE BUILDING CODE LISTED BELOW. S1 (%g)  : 4.9 Sd1:
THAT MU REMOVED PRIOR TO INSTALLATION. PROLONGED EXPOSURE TO SEISMIC’ DESIGN CATEGORY

RAIN AND/OR SUNLIGHT WILL ADVERSELY EFFECT THE PROTECTIVE FILM MAKING BUILDING CODE : 2023 FLORIDA BUILDING CODE SEISMIC IMPORTANCE FACTOR

REMOVAL DIFFICULT. THIS BUILDING MANUFACTURER WILL ACCEPT NO RESPONSIBILITY METHOD OF DESIGN : ALLOWABLE STRENGTH DESIGN (ASD) R .00 &
FOR TRIM WHOSE PROTECTIVE FILM HAS BEEN EXPOSED FOR MORE THAN 3 RISK CATEGORY + Il = Normal Cs 1 This document has been

WEEKS. BASIC STRUCTURAL SYSTEM  : SOMF & SOCBF :
GRAVITY LOAD DATA WIND LOAD DATA ANALYSIS PROCEDURE . Equivalent Lateral Force electronically sealed and

ROOF LIVE LOAD (psf,* : 20, 3 j b
TRIM\PANELS ARE MADE OF THIN GAUGE METAL AND HAVE LARGE FLAT SURFACES NN, ROOF Show Lois (ssfi | 6o AhD SCEE 3_g§d(;“r§gg) 129 Ao SoAn G Kpm O digitally signed by

WHICH CAN CAUSE THE TRIM/PANEL TO HAVE A WAVINESS ACROSS THE FLAT AREAS. Pg (psf)  0.00 WIND EXPOSURE - Long), kips : B0 SCOTT D. CLOSE, P.E. Scott D. Close, P.E.,
IS NOT A C R REJEC SNOW IMPORTANCE FACTOR ~ : 1.00 GCpi= £0.18 2812 TALLEVAST ROAD coples are not considered signed and

C DESIGN WIND PRESS - - .
SHOP PRIMED STEEL: e D URE (p, psf) SEE WIND PRES. DIAGRAM(S) SARASOTA, FL 34243 sealed. The signature must be
ee— LIV verified on any electronic document.

"

1.

BEHLEN IS NOT RESPONSIBLE FOR REPAIRS OF DAMAGED PRIMED SURFACES OR REMOVAL Cs : 1.

OF FOREIGN MATERIAL DUE TO IMPROPER STORAGE OR SITE CONDITIONS. BEHLEN IS NOT | COLLATERAL LOAD (psf) : 5. FLOOR LIVE LOAD (psf) : N/
: g CRANE LIVE LOAD (Tons) : N/

.087
'078

" 2/24/2025, 3:00:49 PM

ow—"mooa
o009 oo

>

RESPONSIBLE FOR DETERIORATION OF THE SHOP COAT PRIMER OR CORROSION DUE TO RAIN ON SNOW (psf

ATMOSPHERIC OR ENVIRONMENTAL CONDITIONS, NOR THE COMPATIBILITY OF THE PRIMER TO | SNOW DRIFT (psf), WIDTH (ft} :
ANY FIELD APPLIED COATING. BEHLEN WILL NOT BE RESPONSIBLE FOR CORROSION OR RAIN INTENSITY (in/hr; 5 YR  : 1 TO ENSURE PROPER ERECTION OF THIS BUILDING

DAMAGE TO A PRIME PAINTED STRUCTURAL STEEL MEMBER THAT IS A DIRECT RESULT OF *Reducible THE FOLLOWING ERECTION GUIDE(S) ARE REQ'D
IMPROPER HANDLING, IMPROPER STORAGE, OR DUE TO SITE OR ATMOSPHERIC CONDITIONS. :
BEHLEN ADVISES THAT PRIMARY STRUCTURAL MEMBERS BE INSPECTED UPON RECEIPT AND
IMMEDIATELY NOTIFY BEHLEN IF ANY MEMBERS APPEAR TO HAVE A PRIMER DEFICIENCY SO
THAT BEHLEN MAY IMMEDIATELY INVESTIGATE AND ADDRESS AS NEEDED.

BEHLEN STRUCTURAL MEMBERS THAT ARE NOT ALREADY FABRICATED OF CIORROSION RESISTANT MATERIAL OR
PROTECTED BY A CORROSION RESISTANT COATING ARE PAINTED WITH ONE COAT OF SHOP PRIMER IN IF THIS SET OF DRAWINGS WERE
ACCORDANCE WITH SSPC—15 (STRUCTURAL STEEL PAINTING COUNCIL). MEMIBERS ARE CLEANED IN ACCORDANCE SENT VIA E—MAIL, THEY ARE

WITH SSPC—SP1 AND SSPC-SP2 PRIOR TO APPLICATION WITH A MINIMUM OF 1.0 MILS DRY THICKNESS. THE SHOP COPIES OF THE ORIGINALS THAT
COAT PRIMER IS INTENDED TO PROVIDE TEMPORARY PROTECTION TO THE C:OATED MATERIAL DURING DELIVERY ARE PRINTED AND ON FILE AT THE
AND FOR SHORT PERIODS OF EXPOSURE TO ORDINARY ATMOSPHERIC CONDITIONS. THE PRIMER IS NOT INTENDED HOME OFFICE OF BEHLEN

TO PERFORM AS, NOR BE AN EQUIVALENT SUBSTITUTE FOR, A FINISH COAT SYSTEM NOR AS A BASE FOR A MFG. CO.
FINISH COAT SYSTEM. CARE SHOULD BE TAKEN IN PLANNING A PROJECT SICHEDULE AND JOB SITE STORAGE TO COLUMBUS, NE THE ORIGINALS

LIMIT LONG—-TERM EXPOSURE TO THE ELEMENTS. PRIMED STEEL WHICH IS S;TORED IN THE FIELD PENDING WITH THE ENGINEERS SEAL ARE
ERECTION SHOULD BE KEPT FREE OF THE GROUND, AND POSITIONED TO MIINIMIZE WATER-HOLDING POCKETS, MUD, CONSIDERED THE LEGAL DOCUMENTS.
OR OTHER CONTAMINANTS. CORROSION MAY RESULT FROM LONG TERM EXP'OSURE TO ATMOSPHERIC OR SITE
CONDITIONS. ABRASIONS TO THE SHOP COAT CAUSED BY HANDLING, SHIPPING, UNLOADING, AND ERECTING ARE
UNAVOIDABLE. IF THE STEEL SUBSTRATE IS EXPOSED, IT WILL RUST IN THE' PRESENCE OF MOISTURE. AS LONG AS DRAWING SUBMITTAL
THE EXPOSURE IS NOT CONTINUOUS, THE STRUCTURAL INTEGRITY OF THE MEMBER IS NOT COMPROMISED. BEHLEN

CAN SUPPLY ADDITIONAL PRIMER UPON REQUEST AT AN ADDITIONAL COST. THE PRIMER COAT IS NOT A FINISH STATUS

O\t 00O«
orgoooo

P T R PN

COAT AND POST APPLICATION OF SUPPLEMENTAL PRIMER MAY YIELD CONTRASTING COLOR VARIATIONS
) FOR APPROVALS

IN SU I._ATl ON ) FOR PERMIT ONLY
)

BY BY THICKNESS OPTIONAL FLANGE RIGID ) NOT FOR CONSTRUCTION
NONE OTHERS BEHLEN OVER ZEE ~ BRACE CLP  BOARD ) FOR REVIEW ONLY 64485 L
S ST T (B) |FOR CONSTRUCTION SLT 2/19/25 SS 2/19/25 | CHECKED BY AKS| DATE 2/3 /2025 : Buildi
THERMAL BLOCKS: _mmmmm (A) _|PERMIT PLANS SLT 2/4/25 AS 2/4/25 zake City rL 32024 fea o el

DEPENDENT ON APPLICATION METHOD, THICKNESS, OR LOCATION. X) FOR CONSTRUCTION
FOR PRELIMINARY USE ONLY
ROOF: ] 3.9 o
SCALE : NONE West Paces
WALL: - 35 S DRAWN BY SLTIDATE 2/ 3/25] 336 SW PACES GLEN E=BEHLEN.
SHT. OF
LETTER REVISIONS DRAWN BY DATE | CHECKED BY | DATE GENERAL INFORMATION 20468 115




o Dia= 1/2"

m Dia= 3/4"
1_ 60'—0" OUT—TO—OUT OF STEEL @
@ ©,
- 20'-0" 20'-0" s 20'-0" _
6” 19'—-6” 6’-—»0” 12’_0” - :—2!_01_— 4!_0” N 1 2)_0ﬂ L i 3,-—6”.—_ - 5”
~
~
i
T MR nHF “‘ ~ T als h ~ als 4
™ B E E C C B Ci)
| oo .
1 [D_] b4
. o 9]
T
-‘1_ 2
T
D Y
. [o ol <
o
| D
o © o] [o'o]
- D -
e e
K ks |
(@) | o
(o} T.D N
& 00 |
© D )
b -
. 9
e
i)
|
= D |
wn loo )
S ) D 5 ©
L b lo ol g . 3
8 | ':I—F |= = GE’ I'r|) B |
i ® ; el A 50 A el o 1 @
T K0 |
= & [o
> - D i
7 = 5
. 2 ~ N
2 9 +
£y :
[ ol
2 j [o o] &
T D T
re _ =)
™ -&__I,’ Q
.:d_ -
T
] D -
) lo ol i
©
I
©
B C_ C B_
B = B|= j o, Ba
LIL LI — &= LI
\ ] ¥ ]
@ X—Bracing A @
o™
™L
’ n m » ”
6"l | 19'—6 | . 19'-6 o g
" 20!_0!! 20!_0" 20!_0” -
O, @ ® ©
BACK SIDE ANCHOR BOLT PLAN
o o NOTE: All Base Plates @ 100'—0" (U.N.)
z &
|_
s =
- 2
FRONT SIDE
ORIENTATION
&) &) SCALE : NONE West Paces =
- & DRAWN BY SLT|DATE 2/3/25 336 SW PACES GLEN . BEH LEN®
(B) |FOR CONSTRUCTION SLT 2/19/25 SS 2/19/25 | & CHECKED BY _ DATE 2/3/2025] | gke City FL 32024 *® Building Systems
(A |PERMIT PLANS SLT 2/4/25 AS 2/4/25 | & JOB NO. SHT. _ OF
LETTER REVISIONS DRAWN BY DATE [CHECKED BY| DATE [LETTER REVISIONS DRAWN BY DATE |[CHECKED BY| DATE 7 ANCHOR BOLT PLAN 20468 2 13




_ " FRAME LINES: 1 2 3 4
D]T<= g;g” 5" Components & Cladding (Factored) @
Thk= i
Width Length Pressure(psf Suction(psf
Zone I(ft) ft) Member ® Pon)el h.ﬂe.-r'nber(p Pu)nel | (?— COLUMN LINE
FI= T = 1 7.20 7.20 —-9.60 —24.72
T 2 4.00 420 7.20 —-17.28 -36.09
. R | — 3 4.00 720  7.20 -17.28 —36.09
] b I » 4 4.00 4.00 7.20 7.20 -26.02 —42.77
o 31/2 5 113 1338 -1226 —14.51
& " & | — 6 4.00 11.13 13.38 —13.37 -17.85
M ” b7 11.10 13.38 —12.24 —14.52
1 2 1/2 8 4.00 1110  13.38 -13.34 —17.86
o _— +) wind towards surface
1" —) wind away from surface
EW
I--l-—‘ \ / 6
1 3/4" 1.3/4"
(5 Ho B
1\’ v
DETAIL A
Dia= 3/4” . ;
Thk= 378" 6 RIGID FRAME: MAXIMUM ASD REACTIONS
E 5 ————Column_Reactions(k )
- 5 Frm Col Load Hmax \' Load Hmin \')
T = T = Line Line Id H Vmax Id H Vmin
s Ve — 1* C 3 1.7 3.1 5 -1.8 —1.8
L | B 3 1/2" 1 15 55 4 -17 -28
N - I 1% A 6 1.8 -18 2 -1.7 3.1
of | I | —F i 1 -1.5 55 7 -0.3 =35
. JJ_ L 2 1/2 1*  Frame lines: 1 4
1 3/4,.|__J1 3 /411" J \ 5 RIGID FRAME: MAXIMUM ASD REACTIONS
SW —————Column_Reactions(k )
Frm Col Load Hmax v Load Hmin V
Line Line Id H Vmax Id H Vmin
5 2% Cc 3 2.8 52 3 ~2.6 -1.9
O 1 2.4 85 4 -2.3 ~=3.7
2* A 6 2.6 -1.9 2 -2.8 5.2
DETAIL B" 1 —-2.4 85 7 -0.7 —4.2
%l]c:(== g;g-- & 2% Frame lines: 2 3
RIGID FRAME:  UNFACTORED COLUMN REACTIONS (k )
- === = Frame Column ————-— Dead————-— Collateral-  ————-— Live————=— Wind_Leftl— —Wind_Right1— ——Wind_Left2—
_"_ Line Line Horiz Vert Horiz Vert Horiz Vert Horiz Vert Horiz Vert Horiz Vert
% Mg | — 1% C 0.3 1.2 0.3 1.1 0.9 3.2 — 91 -5.8 1.0 —-3.4 -3.3 —4.2
o I o 1* A -0.3 1.2 -0.3 1.1 -0.9 32 -10 -34 31 -58 -08 -1.8
A ¥ 3 1/2 2+ C 0.4 1.8 0.6 2.0 1.4 47 -42 -80 16 -48 -47 -49
o = || = | — 2% A -0.4 1.8 -0.6 2.0 -1.4 4.7 -1.6 —4.8 4.2 —8.0 -1.2 -1.7
® Jl_ 2 v/2 Frame Column —Wind_Right2— —-Wind_Longl— ——Wind_Long2— —Seismic_Left  Seismic_Right = —Seismic_Long
— — I{lne Léine HO(S% \.*'e(lt8 Ha::{;i\;5 Ve:;c7 Horoiz3 Ve:"-c1 Hoggl VEE)t1 Hoori? Ve6t1 Ho{;is Ve6t0
1 W| N D PRESSU RE DlAGF\)AM 1% A 33 -42 03 -63 -03 -70 -01 0.1 01 0.1 0.0 -0.3
SW 2% C 1.2 -1.7 0.8 -6.5 0.1 -5.8 -0.1 -0.1 0.1 0.1 0.0 0.0
I | | 2% A 4.7 —-4.9 -0.1 -8.0 -0.8 —-8.8 -0.1 0.1 0.1 -0.1 0.0 -0.3
" ” 1% Frame lines: 1 4
1 3/4 1 3/4 2* Frame lines: 253
(5 ENDWALL COLUMN: MAXIMUM ASD REACTIONS
UETML. G ——— Column_Reactions(k )
Dia= 1/27 Frm  Col Load Hmax V Load Hmin \
Thi= 1/8” Line Line id_ Vmax Id H Vmin
” 1 B 8 2:3 0.1 9 -2.1 0.1
1/2 10 23 02
4 B 8 o3 0.1 9 -2.1 0.1
10 2.3 0.2
I_ 1
Il © [ ASD LOAD COMBINATIONS
% 4']’
| O |—¢ » ID Description
2 il
|_ —l Dead+Collateral+Live
EW/ 2 Dead+Collateral+0.75Live+0.45Wind_Left1
SW ._.] 3 Dead+Collateral+0.75Live+0.45Wind_Right1
2" 4 0.6Dead+0.6Wind_Left1
 gmasanoat,
.6Dead+0.6Wind_Ri
See Plan T O.SDead+0.6Wind_Logng2L
8 0.6Dead+0.6Wind_Right2+0.6Wind_Suction
DETAIL D 9 0.6Dead+0.6Wind_Pressure+0.6Wind_Long2L
Dia= 3/4” 10 Dead+Collateral+0.6Wind_Right2+0.6Win _Suctiorr
Thk= 3/8" ANCHOR BOLT SUMMARY
- TS”_ g i Dia Proj
i‘ | 1 Qty Locate (in) Type (in
O 32 Jamb 3/2” F1554 1.00
| [| g | R 8  Endwal 3/4" F1554 2.50
» ® 32 Frame 3/4" F1554 2.50
o | |F———=4] [31/2 ®4  WndCol 3/4" FI1554 2.50
|| ® | BLDG BRACING REACTIONS (UNFACTORED)
el 31/4 + Reactions(k ) Panel_Shear
SW —Wall — Col —Wind — —Seismic — b /ft
Loc Line Line Horz WVert Horz Vert Wind Seis Note
8 1/2 LEW 1 (h)
F_SW A 1,2 30 22 04 03
R_EW 4 Eh;
B_SW C 12 a
DETAIL E o}Wind bent in bay
h)Rigid frame at endwall
WIND BENT REACTIONS (UNFACTORED)
+ Reactions
—Wall — Col Wind(k ) SeismicQ/( ) Bolt(ln% Base_Plate(in)
Loc Line Line Horz Vert  Horz ert Qty ia Width  Length Thick
B_SW C 2 1.5 2.5 0.2 0.3 2 0.750 6.000 8.000 0.375
B_SW C 1 1.5 2.5 0.2 0.3 2 0.750 6.000 8.000 0.375
H H
fv v
i
S S e IEBEHLEN
- DRAWN BY SLT|pATE 2/3/2025| 336 SW PACES GLEN ®
FOR_CONSTRUCTION SLT 2/19/25 SS 2/19/25 CHECKED BY DATE 2/3/2025] | qie City FL 32024 ® Building Systems
(A) |PERMIT PLANS SLT 2/4/25 AS 2/4/25 JOB NO. SHT.  OF
LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE i ANCHOR BOLT PLAN /0468 J 15




PREASSEMBLED WALK DOORS SWING SWING SWING SWING WALK DOOR TRIMS
TYPE IIAII TYPE IIBII TYPE llcll TYPE IIDII
SPECIAL ORDER PREASSEMBLED WALK DOOR HEADER JAMB TRIM STIFFENER
ot P PREASSEMBLED STANDARD DOOR & FRAME DESCRIPTION —i R DOOR SIZE i N ST
OR SKIN PANIC MORTISE LOCK PREASSEMBLED WALK DOORS ARE COMPLETELY FACTORY OUTSIDE OUTSIDE
el Y L 3070 | (COLOR | SWNG 6X30 16X 16 24X 30 - | DEvicE LATcH | CenTer | (0T | ASSEMBLED INCLUDING SUBFRAME; 20 GAUGE INSULATED sl lhlc TW15 & TW16
B A | aoro | YRTEOR | AliCior | INSULATED | INSULATED | INsULATED [ oo T e | closer | WITH [ pep | supiy | GUARD | MULLON | Ty | DOOR; 5-3/4" - 16 GAUGE FRAME; GALVANIZED; SINGLE WALK DOOR DOUBLE WALK DOOR 4070 W14 TW15 & TW16
6070 ik LEVER | DOOR | LOCK INSULATION INSTALLED BETWEEN DOOR JAMBS AND ==
@ - 3670 SUBFRAME; THRESHOLD; GRADE 1 LEVER LOCKSET; ALL TWi4 TW15 & TW16
DOORS KEYED ALIKE PER ORDER; 4 1/2" PAIRS OF BALL SWING SWING SWING SWING
_070 BEARING HINGES WITH NON-REMOVABLE PIN; COMPLETE TYPE "Al" TYPE "BI" TYPE "CI" TYPE "DI" WALK DOO R Ll N E R TRl M S
070 WEATHERSEAL; ALL CLIPS AND FASTENERS.
= 6070 DOORS ARE SHIPPED ASSEMBLED AND INCLUDE HEADER
_070 THROWBOLTS; ASTRAGAL; LOCK; HINGES; WEATHERSEAL; Ot Z-TRIM JAMB
D THRESHOLD. E LEAF ACTIVE. ® H L
_070 AN D. ON '—:{ }v—' : g 10" J-TRIM
T GIRTS | GIRTS
_070 OUTSIDE OUTSIDE
— SINGLE WALK DOOR (SWING IN) DOUBLE WALK DOOR (SWING IN) 3070, 4070, 6070 | TM119 | TM120 TM23-8
%* | NOTES:
TYPE OFORENING 1. FOR BUILDINGS DESIGNED AS ENCLOSED, ALL WINDOWS, DOORS, AND LOUVERS SHALL BE RATED TO COMPLY
o WITH THE WIND DESIGN CRITERIA IDENTIFIED ON SHEET 1 OF THESE PLANS.
OHD = OVERHEAD DOOR SF=STORE F 2. ALLFIELD LOCATED FRAMED OPENINGS WILL REQUIRE FIELD CUTTING OF GIRTS, PURLINS, AND SHEETING
RU = ROLL-UP BF = BI-FOLD/HYDRAULIC : . i ;
OWS = ONE WAY SLIDE WK = WALK DOOR
TWS = TWO WAY SLIDE FOS = FRAMED OPENING W/ SILL
SIZE SILL HEIGHT TYPE OF OPENING | LOCATION SW, | JAMB TORSION  SPRING
Pl%gf“ Qn (WIDTH X HEIGHT) (IF REQUIRED) * EW OR PW COVER SUPPORT OTHER INFORMATION
5 4'-0" X 7'-2" 32" FOS LEW,REW
© 1 10'-0" X 8'-0" RU LEW
@ ) 12'-0" X 14'-0" RU BSW
"X" DENOTES OPTION SUPPLIED BY BUILDING MANUFACTURER
- L Ll BEHLEN
8 ) DRAWN BY SLT DATE 2/3/2025 WEST PACES l ®
FOR CONSTRUCTION SLT 2/19/25 AKS 2/19/25 | {) CHECKED BY  AKS DATE 2/4/25 LAKE CITY, FL, 32024 ® Building Systems
{A) PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | () _ NG, T oF
A PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | A PERMIT PLANS SLT 2/4/25 AKS 2/4/25 BUILDING ACCESSORIES 20468 4713




SPLICE PLATE & BOLT TABLE

Qt
Mark Topy Bot Int Type Dia Length | Width Thick Length
SP—1 4 4 0 A325 0.750 2.50 6 3/8" 1'-7 1/8"

NV FLANGE BRACES: Both Sides(U.N.)
FBxxA(1): xx=length(in)

A — L2X2X1/8
?l
I-T
O o 21 -
12 7 >
| |
||
| |
i | | —
- I ]
| |
| | T
| | | |
o | || l - ;
4 | | |l i
| || @ [ =
| || |
I || |
I 7 | | r |l
It | | )
| || |
i | A || |
% | w+ | ] o
s | <+ o || o [ )
I |jge o | ww|l ||
5 l =3 l ‘ 55 | "
N | ] ig ol N vl 99 | T
©o | o &
= 1 = {77 2 | o 9 Ly 1o
| Fo < | L l
| <+ | | ¢l EE |
—1 ‘_—l
| | - |
| ] |
| || |
| N I
. | | | )
| l || | o
2 R
| | | | ~
| | | |
| || |
| || |
| || |
| || |
| || |
” 1 I Vil F ‘ I I “ ]
-1: - - 8 1 /2“ 38’_5” 8 1 /2" 1 ”
CLEAR +/-— T
L 40'—0" OUT-TO—OUT OF STEEL i
© ®
RIGID FRAME ELEVATION: FRAME LINE 1 4
BOLT TIGHTENING METHOD:
RIGID FRAMES BY THIS MANUFACTURER ARE DESIGNED TO BE FASTENED USING
A-325 HIGH STRENGTH BOLTS BY THE "SNUG-TIGHTENED” METHOD, AS DEFINED
AND DESCRIBED IN THE RESEARCH COUNCIL ON STRUCTURAL CONNECTIONS
ERECTION NOTES: SPECIFICATION (RCSC, 6—11—2020), SECTION 4.1, "SNUG—TIGHTENED JOINTS”
1. THE "APPLICABLE WALL PANEL ERECTION GUIDE” IS TO (REFERENCE SECTION 8.1)
BE USED IN CONJUNCTION WITH THESE DRAWINGS TO
DETERMINE COMPLETE ERECTION REQUIREMENTS.
2. ALL FLANGE BRACING MUST BE INSTALLED AT FRAME
LINES AS SHOWN.
&) % SCALE : NONE W
: est Paces
= DRAWN BY SLT | DATE 2/3 /2025 l=BEH LEN®
FOR CONS 33536 SW PACES GLEN
TRUCTION SLT 2/19/25 2/19/25 | & CHECKED BY AKSIDATE 2/4/25 | | gke City FL 32024 ® Building Systems
(A |PERMIT PLANS SLT 2//4/25 AKS 2/4/25 | & - JOB NO SHT. _ OF
LETTER REVISIONS DRAWN BY DATE |CHECKED BY| DATE [LETTER REVISIONS DRAWN BY DATE | CHECKED BY| DATE RIGID FRAME ELEVATION ' Z0468| 5 13




SPLICE PLATE & BOLT TABLE

Qt
Mark Topy Bot Int Type Dia Length | Width Thick Length
SP—1 4 4 0 A325 0.750 2.50 6" 1/2" 1'-7 1/8"

NFLANGE BRACES: Both Sides(U.N.)
FBxxA(1): xx=length(in)

A — L2X2X1/8
1 o
12 12
| I | - ! )
10 5/16" _ ==
| |
© | i l Bhe | [T
- | Q | S
© | |
" |
) |
l |
F Il 1 | ]
]
| 1
| |
| Ny '
= RS =
= | w+ | S
I
- | M N _ | 2
-~
|| o 22 |
o . " ©°
] I EN A el .
= -5 ©
= =TT N NEYT| : -
o e s
| e S ﬁ)ﬁ LL
| = i |
| |
| |
| |
| I
o | | o
| | | |
~ ~
| |
| |
| |
| |
| |
| |
| |
] PPPLLLLLIIIS F F 1 Vi I r 1
1 8 9/16" 38—4 7/8" 8 9/16” |1
= CLEAR +/—
» 40'—0” OUT-TO—OUT OF STEEL L
© ®
RIGID FRAME ELEVATION: FRAME LINE 2 3
BOLT TIGHTENING METHOD:
RIGID FRAMES BY THIS MANUFACTURER ARE DESIGNED TO BE FASTENED USING
A—325 HIGH STRENGTH BOLTS BY THE "SNUG—TIGHTENED” METHOD, AS DEFINED
AND DESCRIBED IN THE RESEARCH COUNCIL ON STRUCTURAL CONNECTIONS
ERECTION NOTES: SPECIFICATION (RCSC, 6—11—2020), SECTION 4.1, *SNUG—TIGHTENED JOINTS”
' . (REFERENCE SECTION 8.1)
1. THE "APPLICABLE WALL PANEL ERECTION GUIDE” IS TO
BE USED IN CONJUNCTION WITH THESE DRAWINGS TO
DETERMINE COMPLETE ERECTION REQUIREMENTS.
2. ALL FLANGE BRACING MUST BE INSTALLED AT FRAME
LINES AS SHOWN.
&) &) SCALE : NONE =
- 8 DRAWN BY sL.T [ pATE 2/3 /2025 West ches E BEH LEN®
(8 |FOR_CONSTRUCTION SLT 2/19/25 SS 2/19/25 CHECKED BY AKS|oae 2/4/25 | Lake City FL 32024 *® Building Systems
(Ay |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | (o TR ——
LETTER REVISIONS DRAWN BY DATE |CHECKED BY| DATE |[LETTER REVISIONS DRAWN BY DATE | CHECKED BY | DATE ? RIGID FRAME ELEVATION 0468 6 13




MEMBER TABLE
ROOF PLAN
MARK [ PART LENGTH
P—1 8X25716
P—2 | 8X25Z16
P-3 | 8X25716
E—1 8ES14
E-2 | 8ES14
@ @ E-3 | 8ES14
60'—0” OUT—TO—0OUT OF STEEL \ CB—2 | WX5 25’ 3"
® ?
3]
—of f=— E—3 E-2 g
% /
\ /
N /
\ /
% /
> P—1(Typ) . P—2(Typ) g
7
AN 7
LY /
< B / <
L1 N / ~—
i \ /
< 7
N P
\ /
N
ZN
P Y
/ \
7 X
/ %
/ X
o R
@ N
> &
Y
N
/
o / N\
- P N\
w / \
L \
S // \
S Z N
< HH it
2 \ =<
| X P-3(Typ) 7 P—2(Typ) P—=1(Typ)
o X =
o % ¥4
. N 04
S N\ #
ro) N
i /
/
N\ /
N /
N\ /
\ #
L /
\ /
N /
N /
N/
7N
/ \
/ N
/ N\
/ N
Vs N
/ e
7 N
% &
Y
, N\
/
/ \
/ X
P N\
J/ N
/ N\
A | V I b I
E—1 ) E=3 ROOF
PURLIN -1 344, -1 3/4" SHEETING
LAP 1'-1 3/4" -1 3/4" NOT BY BSE
PANELS: 26 Ga. PBR Panel
GALVALUME
ROOF FRAMING PLAN
\\\11111;,,{/
\\\\\ 11,.!:?.‘.,0(0////
BACK_SIDE : \CENSE RXONG
o =) ok o
< L No. 65849 . —
L TO FACILITATE THE PROPER ORIENTATION OF THE PURLINS WHEN PLACING THEM ON THE ROOF, =
5 i LOCATE THE PART NUMBER AND POSITION THIS END TO THE RIGHT AS STANDING ON THE OUTSIDE L=
L] o OF THE BUILDING LOOKING UPSLOPE; NOTE THAT THE TOP FLANGE OF ZEE PURLINS SHOULD p 1<
e FACE UPSLOPE UNLESS NOTED OTHERWISE ON FRAME CROSS SECTIONS DRAWING. e 4 z?;’f
FRONT SID A\ : ~
O e FOR PROPER NESTING OF LAPPED ZEE CONNECTIONS, ONE FLANGE OF THE ZEE MEMBER IS LORIDP. ‘S\:\\"
ORIENTATION MANUFACTURED 1/4" LARGER THAN THE OTHER. BE CERTAIN TO ORIENTATE ADJACENT ZEE ‘s, IONALE &
MEMBERS AT A LAPPED CONNECTION SUCH THAT THE LARGER FLANGE IS OVER THE SMALLER FLANGE. Trihyirety X
=] — DENOTES FIELD LOCATED ACCESSORY ALTERNATE THE LARGE/SMALL FLANGE ORIENTATION EVERY OTHER BAY WHEN LOADING MEMBERS ONTO
(SEE ACCESSORY SHEET) THE ROOF TO AID IN PROPER NESTING AT FRAME LAP CONNECTIONS.
O SCALE : NONE West Paces =
8 DRAWN BY SLT |DATE 2/3/2025| 336 SW PACES GLEN . BEHLEN®
FOR _CONSTRUCTION SLT 2/19/25 SS 2/19/25 CHECKED BY _ Lake City FL 32024 ® Building Systems
(&) [PERMIT PLANS SLT 2/4/25 AKS 2/4/25 7 i T
LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE |LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE ! ROOF FRAMING /0468 " S




BOLT TABLE
FRAME LINE 1
"LOCATION QUAN TYPE DIA___ [ENGTH
Columns /Raf 4 A5 1/ 1177 ]
A MEMBER TABLE
© 40'—0" OUT—TO—OUT OF STEEL Q FRAME. LINE. 1
MARK | PART LENGTH
® EC—1 | WBX10 8—11 3/4"
- DJ—1 | 8X35C16
20'-0" 20 -0 DJ-2 | 8X35C16
DH—1 | 8X35C16
2 i e O DH-2 | 8X35C16
A3 2 DS—1 | 8X35C16
12 G—1 | 8X25216
G-2 |8X25712
e G-3 |8X25Z16
=N [ G—4 |8X25Z16
T i T G-5 |8X25216
L T - - S e G—6 | 8X25716
P e il e T =~ T~ G-7 | 8X25712
e /j/ L S TR R e G—8 | 8X25716
R gt <l i T N S O ) TRIM TABLE
MGL T s o3 G e ~ [ 4 FRAME_LINE 1
- - o, . OID |PART DETAIL
=1 | [ —— _/ T “““;' T[BT1 T1
R CLF2X (TYP.) S 2 |0CT1 53
o | Rl 4 |uT1 T60
< I | 5JT1 186
|| 6 |HT1 T66
I | . | 7 |sLT 766
r i G=2 G- ~ 8 |WT2 T61
1 I 2 o 2 2] 9 |JT1 T61
i} F. gl 3 i
T I | || 12 |HT1 167
o 7 L L £ SHEETING ZEE1 IN 4 PLACES H g& Tes
o 3] _ .
) ] ot BA—2 =5 66 as o —— :' 15 [HT1 187
3 | I ii i & DH—1 :_ Sk _; DH—1 l : |: ESR‘QECJ?SE' 1PLATES
I FRA!
- - il T 0D [MARK /PART
L 4 © @ | ! 1 B [~ 1 [CP306
I | = o ° o~ | | = = : | 2 |cP302
L 2 | | b o | I 3 |CP308
U Y DS—1 a L a | | DS—1 )
TN 1 g E | | S N
| | o | | ki | :r
I | o " | | "’ | I!
1 = — ] _ ]  _ ] )t —— ey —
Jink ciT @ il i Wil
EC—1
‘=2’-—6” 4’_0” | _2!_0:’_ 10!_0” 1 '—-—6’ 1 ’—Q’l 3’_4” —}_— 4’—8” N 4’_0” . 6‘-——6” J—'
LEFT ENDWALL FRAMING: FRAME LINE 1
12 ]
— =T . = I i S— s
— Lo wi i I By i — —
— G | ' - iy — o
i e & - l i T T
1 r ; N | R
| : J ~ | i |
N = s o &
= (o)} | | _I ‘I -l |
| ? o o | & 2 z :
| S = " i '
| rI\ : ~ :
| o o
| |1 | |
s b1 b ]
[ & i | . o . |
— ' - ::
S| 13 R ] - e
L e E — — S—— - ©
| 21 & m | | | . |_ ZE 7 =
I RN s | " | @ |
| | | DI© @IQ o | © | | |
| | | | | I | | | | |
| I S I g | | s LS -
| &> | I l | | ¢ |
| | | | | | |
| | | | | | __:
Lok [ e e ey ey 1B S SRS S S - P I e SEg ey e oo [aegeageny| SEpmp| QUp—m— pm—— i— [
| @ ] 1 | | \\\\\“”“U,/
LEFT ENDWALL SHEETING & TRIM: FRAME LINE 1
PANELS: 26 Ga. PBR Panel — Charcoal Gray
5 — DENOTES FIELD LOCATED ACCESSORY
(SEE ACCESSORY SHEET) e i T
@ s es aces B
8 DRAWN BY SLT|pATE 2/3/2025| 336 SW PACES GLEN BEI ILEI‘@
(B) |[FOR CONSTRUCTION SLT 2//19//25 SS 2//19//25 - CHECKED BY AKSIDATE 2/4/25 | | gke City FL 32024 ® Building S?r(stems
(Ay |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 JOB NO. o
LETTER REVISIONS DRAWN BY | DATE [CHECKED BY| DATE |LETTER REVISIONS DRAWN BY | DATE | CHECKED BY| DATE ENDWALL FRAMING 20468 8 13




BOLT TABLE
FRAME LINE 4
LOCATION QUAN TYPE DIA LENGTH
O Columns /Raf 4 A325 172" 1172
A e C MEMBER TABLE
O 40’'-0” OUT—TO-OUT OF STEEL - e LiNE 4
MARK [ PART LENGTH
® i1 | B [© T
. 20'—~0" e 20°-0" - DH—-1 | 8X35C16
DS—1 | 8X35C16
215 3 G-3 | 8X25716
12 12 G—4 | 8X25716
G—-9 | 8X25716
G—10 | 8X25712
e G-11 | 8X25Z16
B /jﬁ-r“‘ _ G—12 | 8X25Z14
. ~ “:Z“‘ G—13 | 8X25716
I e i G—14 | 8X25716
e BRI e e B FRAME LINE
1 = s st ek~ S e e == s 4
) " pAGE j_, s LT G=3 G—3 = **-I: 416z OID |PART DETAIL
T e e A T e T e T[BT! Tl
L CLF2X (TYP.) S 2 [0CT1 T53
s | A Rl
ki || r 5 |JT1 T60
I 6 |HT1 166
[1“ | | I!Iil 7 |sLT1 166
i G-10 =12 L
. _ i I~ CONNECTION PLATES
'] ' g R FRAME LINE 4
. I OID [MARK /PART
] I | 1 [ATGZ
3 “ 2 |CP306
2 I | SHEETING ZEE1 IN 4 PLACES 3 |CP302
| ) i G—9 G—41 G=11 | G—13 c—14 | |m 4 |CP308
o | : (3141 3] _1_ B[z 4][3] | "
= || | 1 DH—1 DA D=1 I Ol
I
I | i | il ki i |
: I ; o q . o a . |
(o)) o N o |
| I R DS—1 DS—1 N DS—1 R |
= I ™~ ] ] ~ h 23 N
|| D R o ||
|| b ™ e |
R | SO — LY (€7 W N W R N— E— T N T N E—
217 2l T 217 2 213 [2]
EG~1
\_-. 14’_0” o . 4’-_0’! .___2’_0:_— 3’_0” 5 4!_0" | 5’_0” " 4l_03l s 4.’_0" -
RIGHT ENDWALL FRAMING: FRAME LINE 4
,A’:S” 3”\&\
19 — 12
L T
s = ol | N T
—t | TR
—-“'/ ugh i - | T o S —
e | ! +~
_ o E | ~ N
| ! | R X |
| ~ - [ | 00 = ™~ |
| | l | N | [ |
| = > S S > > “
I £ \ o? |
|
| % : J |
| in 5 |
| | | |
. =L? | N ulj I
& T w0 | w© Tl &
E & KN &1 |
: &7 SN & © :
| R | | |
| A e (Tl |
| D : <D O :
|
| | |
;| T R A IR (Y SN e | R A SN SR S I RN SN ||
| @ | \\\\I\“l};flf
W 1" D. CZ ///,
.......... Q%
\,\CENS&‘ "S%\ ///
RIGHT ENDWALL SHEETING & TRIM: FRAME LINE 4 N — o
PANELS: 26 Ga. PBR Panel — Charcoal Gray f 5 5 =
F 4 S
STATEOF .~ é/u,;l‘
FLORIDP.. \'?\“
...... % 90\\\
/ONAL f\ W
! \
=] — DENOTES FIELD LOCATED ACCESSORY LIy
(SEE ACCESSORY SHEET)
o o SCALE : NONE West Paces =
o o DRAWN BY SLT [pATE 2/4/2025| 336 SW PACES GLEN # BEHLEN®
FOR CONSTRUCTION SLT 2/19/25 SS 2/19/25 | & CHECKED BY | Lake City FL 32024 *@, Building Systems
(A) |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | & o ' 5 o, -
LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE |LETTER REVISIONS DRAWN BY DATE CHECKED BY DATE ENDWALL FRAMING /0468 9 13




MEMBER TABLE
FRAME _LINE A
MARK | PART [ENGTH
E-1 | 8ES14
E-2 | 8ES14
E-3 | 8ES14
G-15 | 8X257214
G—16 | 8X25716
©, ) @ G-17 | 8X25714
60'—0” OUT—TO—OUT OF STEEL \ S-18 | 8X25716
-1 | wx5 v
) &) TRV TABLE
’ ” LI o T S o il ME LINE A
) 20’0 i 20'-0 20 =0 5 oD PART DETAIL
N ' T
5. 2 |LE3 85
E=1 . E—3 |
] [ [
| l
N 7 I
o) | S "4
' | e 4 l
~ g vl
| N 7 |
N & l
: | N G—16 # G—18 G-18
| = - |
N %
, | N 7 |
o N 7 |
) | ~ e I
: N
o | S 2 |
| | \\‘ // G—15 G—-17 G—15
© ’ R |
| |
| I
l |
N | |
N | l
N | |
| |
| l
| |
— e e Tt eeeeeeee——— e e
X T
RF2-3 RF1—4B
FIELD LOCATE SLOTS IN
GIRT FOR X—BRACING FRONT SIDEWALL FRAMING: FRAME LINE A
|
N - U - - O T A YO S VO
;A I (5 O A (O e O (PR N (R . A S - - Al e A S o T e Sl R
l | | | f 3 i )
o 0 © o 0 © © 0 © © © © 0 © © © © © o o
FRONT SIDEWALL SHEETING & TRIM: FRAME LINE A 3 <1 D. C(U’f/,
PANELS: 26 Ga. PBR Panel — Charcoal Gray .,.906(///
No.65849 , X =
& /44:« e
7,8 e'\,\d\\\\\
1y ::'CJ);NAH 1\ \‘\\\
|
[=] — DENOTES FIELD LOCATED ACCESSORY ot
(SEE ACCESSORY SHEET)
(&) (&) SCALE : NONE l=
&) & DRAWN BY SLT [oae 2/4/2025| West Paces BEHLEN@
() [FOR CONSTRUCTION SLT 2/19/25 Ss 2/19/25 8 CHECKED BY 5 | Lake City FL 32024 ® Building Systems
(Ay |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 - - T T
LETTER REVISIONS DRAWN BY DATE | CHECKED BY| DATE [LETTER REVISIONS DRAWN BY DATE | CHECKED BY | DATE | SIDEWALL FRAMING 20468 10 13




BOLT TABLE
FRAME_LINE _C
[OCATION QUAN TYPE DIA___LENGTH
WF—1 — WF—2 8 A325 3/4 2 1/2
WF—1 — RF2—1 4 A325 1/2" 11/2"
WF—1 — RF1—1 4 A325 1/2" 1.1/2"
@ @ MEMBER TABLE
60°—0" OUT—TO—OUT OF STEEL \ FRAME LINE C
- MARK | PART [ENGTH
> WF—1 | BO860413 [14—10"
@ WF—2 | B0860413 |17'—1 3/4”
20'-0" 20°-0" 20'-0" DJ-3 | 8X35C16
- = DH-3 | 8X35C16
B A E-1 | 8ES14
E-2 | 8ES14
E-3 | 8ES14
G-19 | 8X25716
= E-2 E-3 | 6-20 8X25716
! » | | — 1 25216
[ jl05/16" ] G=20 G-23 | G-22 | 8X25716
= 4 | B Bl , G—23 | 8X25Z14
= | in il G-24 | 8X25716
b DH—3 ] DH—3 WF—2 | G-25 | 8X25216
= | G-26 | 8X25714
© | | G—27 | 8X25716
0 | » . | TRIM TABLE
{ G=19 G—21 : C-25 C-27 FRAME LINE C
| | ®) © Bl : SID [PART DETAIL
T1
5 : |@ 2 LE3 85
J | l | 4 [WT2 61
: | | 1
6
| G—189 . G=21 G—24 . G—26
. | o s : ' : I — Pl Al i I
| . & ¥ \
: = < 2 3 + 2 | <+ | | : 9 |HT1 - 187
ONNECTION PLATES
| @ | | @ | FRAME LINE C
| | | I 0D IE:APA?SK/PART
150
o l | ¥ | | T | “—SHEETING ZEE2 IN 4 PLACES 2 |CP306
| l L W 3 [CP302
L | | = | | = | 4 |CP308
| | I | 2 (9]
| 6 1d2
| | | | |
| | | l |
A1GZ B —t—_—— X = T e —— s I N —— N
I_I RN - -7 R S I S R el | cel TH HT
RF1—1A RF2—18 RF2—1A RF1—1B
gt 12'~0" . 40 ‘ gt ‘ 12'=0" 41'—6"[_ o —.L-"Z.L _! 3—4" [ﬁ 8'—4" _ﬂ
" TP =t g
BACK SIDEWALL FRAMING: FRAME LINE C CLEAR
[ =
ol L] 4 r o | + |4
l |
l |
l |
| |
| l
®'®« ©4>- = B <5>|<:-> & = S s s s s s
g - | & N 2 :Q < £ < N < = < vl
(@] o o (@] (@] (@] s LT o o o O | (@] (@] (@]
| | | [ | | | I | I I | |
o S S © © 8 & I 3 0 w |l S|l 3 © ©
- - | - = - | = = = 2 = 1] == = =
| | | l | |
| | | > B O O
| | | | | |
| | | | | |
| | | | | |
| | | | | |
| | | | I |
_____ I TR | 58 S TP (RS . SRS R D I | (S | S | NS | W O P AT [ s |
| | I | ] |
WA,
T 0. oy %
BACK SIDEWALL SHEETING & TRIM: FRAME LINE C '{é'é&'s"é.o@”/
PANELS: 26 Ga. PBR Panel — Charcoal Gray Pl & <<\ f,:
/. No.65849 5 - f z
& Mone
~. STATEOF .- 1?/15
. SLORIDM. "‘\‘;\\\
........ ~
I114 i
=] — DENOTES FIELD LOCATED ACCESSORY T
(SEE ACCESSORY SHEET)
S &) SCALE : NONE
e, ) DRAWN BY SLT|oate 2/3/2025| West Paces .=BEHLEN®
(B) |FOR_CONSTRUCTION SLT 2/19/25 SS 2/19/25 | CHECKED BY AKS|pate 2/4/25 | Lake City FL 32024 *@ Building Systems
(A) |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | & | JOB NO. SHT.  OF
LETTER REVISIONS DRAWN BY | DATE | CHECKED BY | DATE REVISIONS DRAWN BY | DATE |CHECKED BY | SIDEWALL FRAMING 70468 11 13




SHEETING ANGLE A1GZ W/
(2) #12-14 x 1 1/4" SD3 NOTE: SEE FRAME SECTION FOR FLANGE BRACE
1278 x 1 1)2" LOCATION (ONE SIDE OR BOTH SIDES)
A325 BOLTS. (typ. UN.{T) ENDWALL COLUMN SIDEWALL 1 /2% x 1 1/2"
ENDWALL ) GIRT i 1/2°¢ x 1 1/2"
RAFTER MESEE— 1/2"0 x 1.1/2" WELDED AR BOLIES. ) JAMB\ Aé25 BOL 4
| | § e le © A325 BOLTS. (typ) PLATE ; (TYP. u.u.%) s AP BORMIN
| | | I RIGID FRAME COLUMN f - ; *
: °l° ' ' | | JAMB BASE CLIP — ° S o
END OF ! " - ° o { o .
BUILDING — ' ' T""“' ° e e L g . l
I | - {
Ht (o] (o] I I J ™t T
| o o o WELDED "
RIGID =\ S b o ke -l I TN TR === PLATE oS R OPENING
FRAME / o o t ! ENDWALL WDTH RIGID RAFTER
RAFTER
o |- T / Y S R
. IF PRESENT —r ENDWALL CGIRTS 16GA ZEE W/ (2)
——— #12—24X1—1/4 SD5 EA. END
SEE ENDWALL DRAWING OR 24" 0.C. MAX
FOR BOLT DIA AND TYPE.
ROOF PURLIN TO ENDWALL RAFTER SPLICE ENDWALL COLUMN TO WALL GIRT CORNER COLUMN TO WALL GIRT ROOF PURLIN TO INTERIOR
JAMB TO FINISHED FLOOR
RIGID FRAME AT SURFACE CHANGE FRAME RAFTER
JAMB
WALL GIRT —\ \ WALL GIRT
RIGID FRAME COLUMN EAVE STRUT — _\ ————
(? OR (8) REQD — | -
SEE SIDEWALL FRAMING EAVE STRUT @ Q,
WIND BENT ’ X RS, 7
FRAME o9
" COLUMN il / i ik GIRT CLIP —/ﬁ@ ‘d-h :\ GIRT CLIP oj © :'_Egiw?ﬁé?basgzz
H 2 BOLTS PER EAVE STRUT
RIGID FRAME COLUMN - S AND QUANTITY.
il 8 RIGID FRAME COLUMN
sl ol o INTERMEDIATE BOLTS,
: ; — WALL GIRT JAMB '\ WHEN REQUIRED.
| — e o] ‘ =y | -‘ —\
\_ | I WIND BENT — —
______ leldiolel | 4 CONNECTOR © | ol o
= X : % _|—sotTOM BOLTS, See
WALL GIRT 1/2°¢ x 1 1/2 I °c o DRAWING FOR SIZE
A325 BOLTS. (typ) STEELLNE =~ = —w— ! AND QUANTITY.
R e NOTE: LOCATION OF WIND BENT/COLUMN IS THE SAME FOR GRRT cup e
FLUSH & BYPASS GIRTS EXTENSION BEYOND FLANGE IS
SHEETING ANGLE A1GZ W/ ‘ OPENING OPTIONAL, AT TOP & BOTTOM.
o et el s S WIND BENT OR WIND COLUMN EAVE STRUT TO RIGID FRAME WoTH
' TO BUILDING COLUMN EAVE STRUT TO RIGID FRAME AT ENDWALL GIRT BELOW HEADER
WALL GIRT TO FRAME COLUMN BOLTED END PLATE CONNECTION
WALL GIRT TO JAMB AT BUILDING PEAK
‘R PANEL
I
4 N—Lir o s 2-14 x 1 1/4" WALL
1 i I I " STRUCT © 1/’—0" o.C. JAMB 'R" PANEL
11 N I_b:' I #12-14 x 1 1/4° WALL e
L @_ _@z: L _1"I -4 HEADE.?EEHER "R PANEL WALL JTt \ -I ROLL_UP DOOR TRACK
”
WALL GIRT | e ™
1/4-14 x 7/8" WALL Z o)
= IO @18 00, #1214 x 1 1/4" WALL STRUCT S % N xa/8 bor
@\/ 2= ~SEE WALL FASTENER SCHEDULE =) g RIVET © 7'-¢" 0.C.
Z |O =
NO © s & | STEEL LINE = & % 1/
JAMB CLIP B N S|T €] % HVETe e b
OPENING ‘
"R" PANEL WALL JAMB TRIM
g o D ™
L2k STITCH @ 1'-6" 0.C e R JAMB #1214 x 1 1/47 WALL
SECTION ELEVATION i STRUCT @ 1'-6" O.C. STRUCT @ 1'-8" O.C.
SECTION ELEVATION HEADER TO JAMB 'R' PANEL 'R" PANEL
JAMB TO WALL GIRT OUTSIDE CORNER DETAIL JAMB DETAIL @ FRAMED OPENING JAMB DETAIL FOR ROLL—UP DOOR
R™ PANEL WALL R™ PANEL WALL "R” PANEL WALL
'R' PANEL- #2-14 x 1 1/4-' WALL STRUCT 12 "R* PANEL WALL
#12-14 x 1 1/4" WALL 1/S CLOSURE N PAE. e BLD;JODILM.FASTENER ’ »
STRUCT — SEE WALL NOT BY BSE INSIDE CILOSURE #12-14 x 1 1/4" WALL
FASTENING SCHEDULE V—HEADER HEADER NOT IBY BSE STRUCT ® 1'-8" O.C.
HEAD TRIM 1/S CLOSURE GUTTER BRACKET ROOF FASTENER NOT BY BSE
HTY 234w AP AL T ROOF FASTENER NOT BY BSE . JAMB
% STRUCT @ 1'-6" O.C. RAKE ANGLE ROOF FASTENER NOT BY BSE ROOF STITCH :1-\
e = A1GZ NOT BY BSE B "R" PANEL WALL
"PBR"” ROOF PANEL
& U NOT BY BSE ROOF FASTENER I+ |§" gROQE. PANEL £
oy i sl : \
= WRAP TRIM NOT BY BSE GUTTER TRIM = #12_14 x 1 1/4-.“"”-'-
L E 2 HEAD TRIM wrl N #12-14x1 1/4" SD3 HWH NOT BY BSE & P STHUCT @6 0.6
R M T NS Z HT1 (2) PER CONNECTION #10-16x1" PPKH SD3 S s I/S CLOSURE
OF SILL TRIM TO CREATE PAN. S RORF ST ke S HEAD TRIM
2-14 1/4" WALL STRUCT »
1/8 x 1/4 ALUM. ___ 8 RAKE FASTENER et il s SoiEbuLe 3/8° MASTIC: (BOTTOM ONLY) 8
RIVETS @ 12" O.C. __——su 3 FINISHED FLOOR NOT BY BSE 1
w EAVE TRIM /S CLOSURE l/
/ ET1. o
T - v i: .x OUTSIDE CLOSURE _tl 3 BEeR L HEADER
:12'-3#{“ X 1! 1/;&: w% 1/S CLOSURE - _ —/ EAVE STRUT it JAMB
FASTENING SCHEDULE g *R” WALL PANEL "R™ WALL PANEL
- i B #12-14 x 1 1/4" WALL
R" PANEL: « STRUCT @ 1'-8" 0.C.
BLDG. DIM.
HEAD & SILL DETAIL @ F.O. HEADER DETAIL FOR ROLL—UP DOOR RAKE DETAIL W/ WALL PANEL e WALLERIQR HEADER DETAIL
» ” ” » ” ” T RD EAVE
R” PANEL WALL R" PANEL WALL PBR” PANEL ROOF R R e R A ERR A — WALK DOOR JAMB DETAI
Vit
W 1y
\V ‘7
\\\\ ()“‘Y D ‘ C{O ///f
\ Q . - L] L] - ™ /
o g GEN o 0 2
S G VWEENEE T
-~ . % -
> -
FASTENER SCHEDULE ) o =
LOC. | PART NUM. DESCRIPTION LOC. | PART NU. DESCRIPTION ABBREVIATIONS G) =
) AS NOTED ON RIGID FRAME ELEVATION 4) [3228055|SCREW 12 X 1 1/4 HWH SD #5 PT NW HD = HEAD UNLESS OTHERWISE NOTED
, CONNECTIONS BY THIS
(2) |3228092|SCREW 1/4 X 7/8 FL—TP SD WW 5 [1328193[BOLT 1/2 X 1 1/2 HVHX A325T GALV & NUT (1328191) ¢ o FOR CONSTRUCTION SLY 2/19/25 SS 2/19/25 | MANUFACTURER USING A—325 HIGH STRENGTH
(3) [3228280|SCREW 12 X 1 HWH SD NW 6) [3188751[BOLT 1/2 X 1 1/4 FLT RD HD A307 PLTD & NUT (2688474) SS = STAINLESS STEEL (A) |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 BOLTS ARE DESIGNED TO BE FASTENED USING THE
(4) |3228042|SCREW 12 X 1 1/4 FL—TP SD WW ) —  |SCREW 12 X 2 FL—TP_SD WW (SPECIAL ORDER) PT = POINT SNUG TIGHTENED™ METHOD, AS DEFINED AND DESCRIBED
(6) 31 28087 RIVET 1/8 X 1/4 :‘v\’w’t - wOTH WASHER NOTES: : : G 7 ”SPECIF‘CATION (RCSC. 6-11"2020), SECTION 4.1
FLT ; FLA#W ASHER 1. FOR FLANGE BRACE LOCATIONS — SEE FRAME CRO!SS SECTION 4. EDGE OF ROOF TRIMS HAVE BEEN SUPPLIED IN LENGTHS TO SNUG—TIGHTENED JOINTS (REFERENCE SECTION 8'1)'
(8) |[3188333|BOLT 1/2 X 2 HVHX A325T GALV & NUT (1328191) @) |3228285|SCREW 12 X 1 1/4 HWH SD NW HVHX = HEAVY HEX AND ROOF FRAMING PLANS. ACCOMMODATE FIELD MITERING AT BUILDING CORNERS. EXTEND [
(9) |1328199|BOLT 5/8 X 2 1/4 HVHX A325T GALV & NUT (1328195) D - Mt 2. SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL FELD CUT AND TAB TRMS To JON AT NTERSECTNG PLANES "SCALE :
GC} 1328187 |BOLT 3/4 X1 1/2 HVHX A325T GALV & NUT (1328192) HWH = HEX WASHER HEAD COMPONENTS MAY BE REQUIRED DURING THE ERECTION OF THIS AND SECURE WITH TRIM FASTENERS. C E : NONE WeSt Poces .= BE H LE N
(17) [1328190[BOLT 3/4 X 2 1/2 HVHX A325T GALV & NUT (1328192) FL—-TP = FLAT TOP BUILDING. DRAWN BY SLT|pATE 2/3/2025| 336 SW PACES GLEN ® ®
@ 3228094/SCREW 1/4 X 7/8 LG—LF SD WW FOR PBR ROOF gﬁ;LF = LONG LIFE CHECKED BY AKS|DATE 2 /4 /25 . x Buildi
3228094|SCREW 1/4 X 7/8 LG—LF SD WW FOR SS ROOF S = PHILLIPS 3. PURLIN LAPS MAY VARY IN LENGTH AND MAY NOT - st atee _l | ke City FL 32024 ® uilding Systems
It 3228040[SCREW 12 X 1 1/4 LG—LF SD WW FOR PBR ROOF NECESSARILY BE THE SAME ON EACH SIDE OF THE FRAME ' JOB NO. SHT. OF
3228040|SCREW 12 X 1 1/4 LG—LF SD WW FOR SS ROOF DETAIL DRAWINGS /0468 12 13

W

g ‘



BOLTED—- O ©

END PLATE {0 }TOP BSLTEb RSESEZE

DRAWING IZE.

Tor FLANDE AND QUANTITY.
o |l o| =———INTERMEDIATE BOLTS,
s WHEN REQUIRED.
(@] (@]

BOTTOM — :|——Borrom BOLTS, SEE

FLANGE O © DRAWING FOR SIZE.

AND QUANTITY.

Rigid Frame Rafter

3 )

—

SHEETING DIRECTION ————— =

LT)
Endwall Girt

Bolted Clip

FACE OF FRAMING MEMBER

@ 18" CTRS

OUTSIDE

—

INSIDE

PANELS SHOULD BE CONSTRUCTED IN
THE FIELD SO THAT THE BEARING LEG
WILL BE TO THE INSIDE OF THE BUILDING

—h

ANCHORAGE IS NOT BY

2. MAINTAIN A MINIMUM GAP OF 1/8"
FROM BASE OF PANEL TO BASE TRIM

BBS

PBR WALL PANEL?
INSIDE \
CLOSURE

URETHANE
SEALANT

(NOT BY BBS)—-...\___\

a| BASE TRIM
S|l BT1
. |Z CONCRETE
o= NOTCH

SEE WALL FASTENER
SPACING SCHEDULE

(18) @ 60" CTRS

A1GZ

CONCRETE

(NOT BY BBS)

BOLTS FOR RAFTER TO PBR WALL PANEL SIDELAP BASE TRIM
COLUMN CONNECTION SECTION OF ENDWALL GIRT TO RAFTER BA
SHEETING DIRECTION
PBR WALL PANEL SPACED AS SHOWN © FRAMING MEMBERS PBR WALL PANEL SPACED AS SHOWN © GIRTS
FACE OF FRAMING FACE OF GIRT
MEMBER
SN /AL L\ el N AN e AL &—:[
AT BASE, END LAPS, FRAMED AT INTERMEDIATE GIRTS
OPENINGS, EAVE, & RAKE (EXCEPT WHERE ENDLAPS OCCUR)
PBR WALL PANEL FASTENER SPACING SCHEDULE
FASTENER SCHEDULE @
LOC. | PART NUM. DESCRIPTION LOC. [ PART NUM. DESCRIPTION ABBREVIATIONS )
[©) AS NOTED ON RIGID FRAME ELEVATION 49 [3228055[SCREW 12 X 1 1/4 HWH SD #5 PT NW HD = HEAD |
(2) |3228092|SCREW 1/4 X 7/8 FL—TP SD WW 5 [1328193[BOLT 1/2 X 1 1/2 AVHX A325T GALV & NUT (1328191) - (B) |FOR CONSTRUCTION S 2/19/25 SS 2/19/25 ﬂ’ih%spic?ﬂf?é” 3§|$GOT5932050T{T§: STRENGTH
(3) [3228280|SCREW 12 X 1 HWH SD NW 6 [3188751[BOLT 1/2 X 1 1/4 FLT RD HD A307 PLTD & NUT (2688474) | S5 = STAINLESS STEEL (Ay |PERMIT PLANS SLT 2/4/25 AKS 2/4/25 | BOLTS ARE DESIGNED TO BE FASTENED USING THE
(4) |3228042|SCREW 12 X 1 1/4 FL—TP_SD WW D | — [SCREW 12 X 2 FL—TP_SD WW (SPECIAL ORDER) PT = POINT SNUG TIGHTENED" METHOD, AS DEFINED AND DESCRIBED
(5) [3228040]SCREW 12 X 1 1/4 LG—LF SD WW () [3228022SCREW 10 X 1 PANCAKE HEAD RD = ROUND LETTER REVISIONIS DRAWN BY DATE CHECKED BY DATE IN THE RESEARCH COUNCIL ON STRUCTURAL CONNECTIONS
FLT ; ?I?A'Iw ASHER 1. FOR FLANGE BRACE LOCATIONS — SEE FRAME CROSS SECTION 4. EDGE OF ROOF TRIMS HAVE BEEN SUPPLIED IN LENGTHS TO SNUG—TIGHTENED JOINTS (REFERENCE SECTION 8°1)'
(B) 3188333|BOLT 1/2 X 2 HVHX A325T GALV & NUT (1328191) @D 3228285|SCREW 12 X 1 1/4 HWH SD NW HVHX = HEAVY HEX AND ROOF FRAMING PLANS. ACCOMMODATE FIELD MITERING AT BUILDING CORNERS. EXTEND
(9) 13268199 BOLT 5/8 LT 1/4 e oo (1328195) gtl'r[l)- f gltl:'Il:EADTED 2. SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL glgréEgJﬁN%gRngle-:gM$0T30::T}E\‘?'SIEJCEI'LRAS%:3A'HC::TP:::‘ESS
gvl :ggglgg ggﬂ ;‘,;1 : 12 11//4'; :mi 133225;’; (é»:li:’,i :ﬂ? (1132;311322) HWH = HEX WASHER HEAD |  COMPONENTS MAY BE REQUIRED DURING THE ERECTION OF THIS AND SECURE WITH TRIM FASTENERS. SCALE : NONE West Paces .= BE H LEN
@ [3228094/SCREW | /4 X 7/8 LG-LF_SD WW FOR P(BR ROO)F LG-LF = LONG LFE i T ik; DATE 2/3/2025] 336 SW PACES GLEN idi i
3228094[SCREW 1/4 X 7/8 LG—LF SD WW FOR SS ROOF FHPS: =[S 3. PURLIN LAPS MAY VARY IN LENGTH AND MAY NOT S et S0l ) Lake City FL 52024 ® Building Systems
) ggggg:g gggg: 12 X 1 1/4 LG-LF SD WW FOR PBR ROOF NECESSARILY BE THE SAME ON EACH SIDE OF THE FRAME g:' JOB NO. SHT. _ OF
12 X 1 1/4 LG—LF SD WW FOR SS ROOF DETAIL DRAWINGS /0468 13 13




	001 - 2025-04-08T140741.693.PDF
	002 - 2025-04-08T140738.808.PDF
	003 - 2025-04-08T140733.924.PDF
	004 - 2025-04-08T140731.108.PDF
	005 - 2025-04-08T140728.153.PDF
	006 - 2025-04-08T140717.072.PDF
	007 - 2025-04-08T140713.721.PDF
	008 - 2025-04-08T140710.956.PDF
	009 - 2025-04-08T140703.605.PDF
	010 - 2025-04-08T140701.219.PDF
	011 (73).PDF
	012 (66).PDF
	013 (61).PDF

